
IV-POLE Installation 

  Page 1 of 2                                            FORM-03DOC-003 Rev. 1 

 

 

Parts Required:    IV Pole & Holder  

Tools Used:    7/16" Wrench 

 

        
 

Step Execution  Figures 

1 Insert the two 1/4"-20 x 1-3/4" long hex cap screws, through 

the pass holes located on the mounting bracket. 

 

 
2 Place mounting bracket on one of the rear caster posts, just 

above the welded cross bars.  Place the clamp on the 

oppoite side of the caster post & thread the hex cap screws, 

installed in the step one, through the clamp.  Use 7/16" 

wrench to tighten. 

 

 
3 Step 2 continued  

 



IV-POLE Installation 

  Page 2 of 2                                            FORM-03DOC-003 Rev. 1 

4 Once the mounting bracket is tightened,  slide the larger 

opening ,of the IV Pole Holder, over the 7/8" stud on the 

mounting bracket.  Use the 5/16"-18" Hand Wheel to secure. 

 

 
5 At the top, swaged end, of the IV Pole Holder, insert the IV 

Pole.  Insert the 5/16"-18 x 3/8" long set screw into one of 

the weld nuts, at the top of the IV Pole holder.   Insert a 

5/16"-18 Hand Wheel in the Adjacent Weld Nut.    

 

 
6   

 
 

For more information, please contact Broda Customer Care at 1-800-668-0637 

 

  


